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AQA A2 Biology 

7 Nerves and muscles
1
(a)
A = myelin sheath



B = node of Ranvier
[1]

(b)
It allows for rapid diffusion of the neurotransmitter/speeds up transmission. 
[1]

(c)
It prevents acetylcholine from binding to the receptor. The post-synaptic membrane 
is not depolarised. The muscle is paralysed/cannot contract. 
[3]
2
(a)
This allows rapid diffusion of a substance in and out, e.g. oxygen, glucose or carbon dioxide. 
[2]

(b)
Slow muscle fibres rely on aerobic respiration, which takes place in the mitochondria, 
e.g. the Krebs cycle or electron transport chain. 
[2]

(c)
This allows aerobic respiration to continue for longer. 
[2]
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